
Four people, A, B, C, and D, are all looking to rent space in an apartment building. There are three floors in the 
building, 1, 2, and 3 (where 1 is the lowest floor and 3 is the highest). Each person must be assigned to some floor, 
but it’s ok if more than one person is living on a floor. We have the following constraints on assignments:

• A and B must not live together on the same floor.

• If A and C live on the same floor, they must both be living on floor 2.

• If A and C live on different floors, one of them must be living on floor 3.

• D must not live on the same floor as anyone else.

• D must live on a higher floor than C.

We will formulate this as a CSP, where each person has a variable and the variable values are floors.

(a) Draw the edges for the constraint graph representing this problem. Use binary constraints only. You do
not need to label the edges.

A B

C D

(b) Suppose we have assigned C = 2. Apply forward checking to the CSP, filling in the boxes next to the
values for each variable that are eliminated:

A � 1 � 2 � 3

B � 1 � 2 � 3

C � 2

D � 1 � 2 � 3

(c) Starting from the original CSP with full domains (i.e. without assigning any variables or doing the forward
checking in the previous part), enforce arc consistency for the entire CSP graph, filling in the boxes next
to the values that are eliminated for each variable:

A � 1 � 2 � 3

B � 1 � 2 � 3

C � 1 � 2 � 3

D � 1 � 2 � 3

(d) Suppose that we were running local search with the min-conflicts algorithm for this CSP, and currently
have the following variable assignments.

A 3
B 1
C 2
D 3

Which variable would be reassigned, and which value would it be reassigned to? Assume that any ties are
broken alphabetically for variables and in numerical order for values.
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The variable  A will be assigned the new value # 1
# B  2
# C # 3
# D
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